

Republic of the Philippines Department of Justice

BUREAU OF CORRECTIONS SAN RAMON PRISON AND PENAL FARM Zamboanga City



INVITATION TO BID SUPPLY AND DELIVERY OF VARIOUS MEDICINES 3RD QUARTER CY 2018

1. The Bureau of Corrections, through the GAA for CY 2018 intends to apply the sum of One Million Three Hundred Forty-Nine Thousand Six Hundred Fifteen and 15/100 Pesos (\$\mathbb{P}1,349,615.15) broken down as follows:

Item No.	Unit	Item Descript ion	Quantity	Unit Cost	Total Cost
			LOT 1 PULMONARY MEDICINES		
			A. ORAL PREPARATIONS FOR ASTHMA, COPD AND PTB		
1	30,000	TABS	SALBUTAMOL, 2MG	0.31	9,420.00
2	1,500	CAPS	SALBUTAMOL GUIAFENSIN CAPSULE	1.35	2,018.40
3	400	CAPS	DOXOFYLINE 400 MG	15.00	6,000.00
4	300	TABS	MONTELUKAST 10 MG	8.00	2,400.00
5	1,500	TABS	PREDNISONE 10 MG	1.85	2,778.75
6	1,000	TABS	PREDNISONE 20 MG	5.17	5,167.50
			SUB-TOTAL		27,784.65
			B. BRONCHO-INHALER PREPARATION FOR ASTHMA AND COPD		
7	500	PCS	SALBUTAMOL METERED DOSE INHALER	165.75	82,875.00
			SUB-TOTAL		82,875.00
			C. NEBULIZING SOLUTIONS FOR ASTHMA AND COPD		
8	5,000	NEBS	SALBUTAMOL IPATROPIUM NEBULE	27.79	138,937.50
9	5,000	NEBS	SALBUTAMOL	12.70	63,500.00
			SUB-TOTAL		202,437.50
			D. FEVER, COUGH AND COLDS PREPARATIONS		
10	10,000	TABS	AMBROXOL, 30MG	0.49	4,875.00
11	50	LOZE NGE	AMBROXOL LOZENGE	42.50	2,125.00
12	6,000	CAPS	CARBOCISTEINE 500 MG	1.46	8,775.00
13	2,000	CAPS	LAGUNDI 600 MG	4.65	9,300.00
14	100	CAPS	CEFADROXIL 500 MG	36.00	3,600.00

15	10,000	TABS	PHENYLEPHRINE HCL+DEXTROMETORPHAN+PARACETAM OL	0.15	1,462.50
16	25,000	TABS	CHLORPHENEMINE MALEATE PHENYLEPHRINE 10 MG WITH PARACETAMOL 500 MG	1.70	42,500.00
17	10,000	TABS	PARACETAMOL TABLET	0.51	5,070.00
			SUB-TOTAL		77,707.50
			E. INJECTABLES/IV ,EDS FOR ASTHMA AND COPD		
18	100	VIALS	HYDROCORTISONE 250MG	126.75	12,675.00
19	200	VIALS	HYDROCORTISONE 100MG	46.80	9,360.00
			SUB-TOTAL		22,035.00
			TOTAL		412,839.65
			LOT 2 MUSULOSKELETAL MEDICINES		
			F. MEDS FOR ARTHRITIS, GOUT, SPASM		
1	3,000	CAPS	CELECOXIB 200MG	3.86	11,583.00
2	55,000	CAPS	MEFENAMIC ACID 500MG	1.50	82,500.00
3	2,000	TABS	IBUPROFEN 400MG	6.54	13,080.00
4	2,000	CAPS	TRAMADOL 50MG	1.66	3,315.00
5	100	TABS	PARACETAMOL+TRAMADOL 325MG/37.5MG	5.81	581.10
6	400	TABS	ALLOPURINOL 300 MG	2.15	858.00
7	1,000	TABS	COLCHICINE 500MCG	2.25	2,245.00
			TOTAL		114,162.10
			LOT 3 CARDIOVASCULAR MEDICINES		
			G. HYPERTENSION MEDS		
1	100	TABS	TRIMETHAZIDINE 35 MG	14.50	1,450.00
2	200	TABS	CANDESARTAN 8 MG	14.00	2,800.00
3	1,000	TABS	FELODIPINE 5 MG	39.00	39,000.00
4	5,000	TABS	LOZARTAN AND HYDROCLOROTHIAZIDE 50MG/12.5 MG	3.86	19,305.00
5	3,000	TABS	LOZARTAN 50 MG	2.25	6,735.00
6	1,000	TABS	FUROSEMIDE 40 MG	0.94	936.00
7	100	AMPS	FUROSEMIDE 20 MG	8.39	838.50
8	1,000	TABS	SPIRINOLACTONE 25 MCG	35.00	35,000.00
9	200	TABS	CILOSTAZOL	17.00	3,400.00
10	350	TABS	PLETAAL 75 MG	42.86	15,000.00
11	250	TABS	LANOXIN 250 MCG	4.62	1,155.00

12	50	TABS	CITICHOLINE 500 MG	35.00	1,750.00
			TOTAL		127,369.50
			LOT 4 ENDOCRINOLOGY MEDICINES		
			H. DIABETES MEDS		
1	15,000	TABS	METFORMIN 500MG	0.96	14,332.50
2	1,000	TABS	GLIMEPIRIDE 4MG	7.61	7,605.00
3	5,000	TABS	GLICLAZIDE 80 MG	4.15	20,748.00
4	7,000	TABS	SIMVASTATIN 40MG	4.29	30,030.00
5	500	TABS	LIPITOR 40 MG	19.33	9,665.00
			TOTAL		82,380.50
			LOT 5 INFECTIOUS MEDICINES		
			I. ORAL ANTIBIOTIC PREPARATIONS		
1	3,000	CAPS	AMOXICILLIN 500MG	2.05	6,142.50
2	5,000	CAPS	CEFALEXIN 500MG	3.80	19,012.50
3	900	CAPS	LEVOFLOXACIN 500 MG	13.65	12,285.00
4	500	CAPS	CIPROFLOXACIN 750MG	40.00	20,000.00
5	1,000	TABS	COTRIMOXAZOLE 800/160 MG	1.74	1,735.00
6	1,000	TABS	ACYCLOVIR 400 MG	7.41	7,410.00
			SUB-TOTAL		66,585.00
			J.PARENTERAL ANTIBIOTICS		
7	100	VIALS	CEFTRIAXONE 1GM/VIAL	33.15	3,315.00
8	500	VIALS	CEFUROXIME 750MG/VIAL	37.05	18,525.00
9	500	BOTS	METHRONIDAZOLE 500 MG/BOT	31.20	15,600.00
10	50	VIALS	CLINDAMYCIN 300 MG/ VIAL	244.00	12,200.00
			SUB-TOTAL		49,640.00
			K. ANTI VERTIGO		
11	1,000	TABS	CINNARIZINE 25MG	0.78	780.00
12	500	TABS	BETAHISTINE 16MG	7.02	3,510.00
			SUB-TOTAL		4,290.00
			TOTAL		120,515.00
			LOT 6 DERMATOLOGIC MEDICINES		
			L. SKIN TOPICAL MEDS		
1	70	TUBE S	BETHAMETASONE CREAM	95.50	6,685.00
2	100	TUBE S	KETOCONAZOLE+CLOBETAZOL+PROPRIO NATE CREAM 5MG	39.98	3,997.50
3	30	BOXE S	ZINC OXIDE+CALAMINE CREAM	833.33	25,000.00
			SUB-TOTAL		35,682.50

			M. ANTIHISTAMINE		
4	500	TABS	LORATADINE 10MG	2.05	1,023.75
5	1,000	TABS	CHLORPENIRAMINE 4MG	1.00	1,000.00
6	500	CAPS	DIPHENHYDRAMINE 50MG	1.07	536.25
7	300	TABS	CETIRIZINE 10 MG	16.71	5,013.00
			SUB-TOTAL		7,573.00
			TOTAL		43,255.50
			LOT 7 IMMUNITY, BODY SUPPLEMENT MEDICINES		
			N. VITAMINS/MINERALS/ANTI OXIDANTS		
1	50,000	TABS	MULTIVITAMINS/MINERAL/IRON	5.00	250,000.00
2	20,000	TABS	VITAMIN B COMPLEX	2.02	40,380.00
3	20,000	TABS	ASCORBIC ACID 500 MG	2.40	48,000.00
4	100	CAPS	DIBENCOZIDE 6MG	20.00	2,000.00
5	200	TABS	MECOBALAMINE 500 MG	17.22	3,444.00
6	30	AMPU LE	SUREMINE ACIDS	230.00	6,900.00
			TOTAL		350,724.00
			LOT 8 GASTROINTESTINAL MEDICINES		
			O. GIT AND HBT PREPARATIONS		
1	500	TABS	HYOSCINE N BUTYLBROMIDE 10 MG	8.19	4,095.00
2	1,000	CAPS	RANITIDINE 300MG	3.22	3,217.50
3	3,000	TABS	ALUMINUM MAGNESIUM OH 200MG/100MG CHEWABLE TABS	0.74	2,223.00
4	100	BOTS	ALUMINUM MAGNESIUM HYDROXIDE SUSPENSION 60 ML	36.08	3,608.00
5	1,000	CAPS	OMEPRAZOLE 40MG	9.65	9,652.50
6	100	IV	OMEPRAZOLE 40MG	87.75	8,775.00
7	500	TABS	BISACODYL 5 MG TABS	1.72	859.95
8	50	AMP	METOCLOPROMIDE 10 MG	10.73	536.50
9	900	TABS	DOMPERIDONE TABS	1.54	1,386.45
10	100	TABS	URSODEOXYCHOLIC ACID 300 MG	72.50	7,250.00
11	15	ВОТ	LACTULOSE SYRUP	213.33	3,200.00
12	15	ВОТ	GAVISCON SYRUP	60.00	900.00
			TOTAL		45,703.90
			LOT 9 UROLOGIC MEDICINES		

			P. MEDS FOR BPH, KIDNEY STONES		
1	500	TABS	POTASSIUM CHLORIDE (KCI) 600MG	16.57	8,285.00
2	1,000	CAPS	SAMBONG 500MG	6.54	6,540.00
3	1,000	TABS	TAMSULOSIN	28.00	28,000.00
			TOTAL		42,825.00
			LOT 10 OTHER MEDS		
1	120	ВОТ	BACTIDOL GARGLE	82.00	9,840.00
			TOTAL		9,840.00
			GRAND TOTAL		1,349,615.15

being the Approved Budget for the Contract (ABC) to payments under the contract for the *Supply and Delivery of Various Medicines* for 3rd Quarter CY 2018. Bids received in excess of the ABC for each lot shall be automatically rejected at bid opening.

2. The Bureau of Corrections Bids and Awards Committee (BAC) now invites bids for Supply and Delivery of Various Medicines for 3rd Quarter CY 2018. Delivery of Various Medicines is required within Five (5) Calendar Days after receipt of the Notice to Proceed by the winning bidder. Bidders should have completed, within Twenty-Four (24) Months from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II. Instructions to Bidders.

The Single Largest Completed Contract, equivalent to at least *Twenty-five percent (25%) of the ABC is Three Hundred Thirty-Seven Thousand Four Hundred Three and 79/100 Pesos (P337,403.79)*. The bidder's SLCC similar to the contract to be bid should have been completed within Two (2) years prior to the deadline for the submission and receipt of bids.

 Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 Revised Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".

Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA 5183.

- 4. Interested bidders may obtain further information from *Bureau of Corrections*, *San Ramon Prison and Penal Farm*, *Brgy. Talisayan*, *Zamboanga City* and inspect the Bidding Documents at the address given below during *Mondays-Fridays* (8:00am-5:00pm).
- 5. A complete set of Bidding Documents may be acquired by interested Bidders on May 31- June 20, 2018 and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount base on the following schedule.

ABC	FEE FOR THE SALE OF BIDDING DOCUMENTS (in Philippine Peso)
500,000 and below	500.00
More than 500,000 up to 1 Million	1,000.00

Above 1 Million up to 5 Million	5,000.00		
Above 5 Million up to 10 Million	10,000.00		
More than 10 Million up to 50 Million	25,000.00		

It may also be downloaded free of charge from the website of the Philippine Government Electronic Procurement System (PhilGEPS) and the website of the Procuring Entity, provided that Bidders shall pay the applicable fee for the Bidding Documents not later than the submission of their bids.

- 6. The Bureau of Corrections, will hold a Pre-Bid Conference on June 08, 2018, 10:00 a.m. at GAD Multi-Purpose Hall, San Ramon Prison and Penal Farm, Brgy. Talisayan Zamboanga City which shall be open to prospective bidders.
- 7. Bids must be duly received by the BAC Secretariat at the address below on or before June 20, 2018, 10:00 a.m. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in ITB Clause Error! Reference source not found..

Bid opening shall be on June 20, 2018, 10:00 a.m. onwards at GAD Multi-Purpose Hall, San Ramon Prison and Penal Farm, Brgy. Talisayan Zamboanga City. Bids will be opened in the presence of the bidders' representatives who choose to attend at the address below. Late bids shall not be accepted.

- 8. In case of two or more bidders have the lowest calculated responsive bid, the Bids and Awards Committee (BAC) shall use a non-discretionary and non-discriminatory measure based on sheer chance as a tie breaker (draw lots) to determine the final LCRB, based on the following procedures:
 - i. In alphabetical order, the bidder shall pick one rolled paper
 - ii. The lucky bidder who would pick the paper with a "CONGRATULATIONS" remark shall be declared as the final bidder.
- 9. The Bureau of Corrections SRPPF-BAC reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Section 41 of RA 9184 and its IRR, without thereby incurring any liability to the affected bidder or bidders.
- 10. For further information, please refer to:

MS. FLORINGAILE A. DAQUINAG

BAC Secretariat

Bureau of Corrections, 2nd floor, Admin Bldg., San Ramon Prison and Penal Farm,

Brgy. Talisayan, Zamboanga City

CP No. 09173930763

srppf_bac@yahoo.com.ph

www.bucor.gov.ph

MARIA EDNA DC. DE MESA Chairman, Bids and Award Committee

SRPPF, BuCor